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1. BERBROE
(1) BE UL
H KB E AL 1,000 1,000 0
HEAXBEZIFER 1,000 1,000 0
BEEEERLE 1,000 1,000 0
BEEEZIFER 1,000 1,000 0
TheE 3,020,000 3,022,000 -2,000
ZH—REE 3,000,000 3,000,000 0
STMEE-LHHEE 0 0 0
EHEER 20,000 22,000 -2,000
FEINEE 70,000 70,000 0
HESE XU 70,000 70,000 0
[GER-ITE UG 0 0 0
HEEFEMEFEINE 0 0 0
B EEFZEINE 0 0 0
X ER - BB UV 0 0 0
SREMEE 7,930,200 6,888,500 1,041,700
SHMEEENREIREE 6,462,800 6,420,600 42,200 |BiEi £ A+ /MRS E 121005
SR EMHEE 467,400 467,900 -500(Bh£B
Z D DB E 1,000,000 1,000,000| EFFEDEL
SREeEEE 1,350,000
EENEEES 1,350,000 1,350,000 EEFNELSIE
MU AT 100 100 0
ZHIFE 100 100 0
HMUTA 0 0 0
BEUEET (A) 12,372,300 9,982,600 2,389,700
Q)REER
E£EB) O~WONDET 11,505,300 9,197,000 2.308,300
OWHEHERE % 235,000 270,000 -35,000 ;R & s2BH & 1th
S5E 5,000 5,000 0
FNRI AR & 105,000 100,000 5,000
BIEERE 115,000 150,000 -35,000
HERE 10,000 15,000 -5,000
QM DILIREE 812,000 782,000 30,000 O [ 2R 4K fth
B E 32,000 -32,000
FNRI S AR & 267,000 280,000 -13,000
ERE 350,000 150,000 200,000|HP
BRERE 200,000 -200,000
BIEERE 195,000 120,000 75,000
QMMBERE 658,500 325,000 333,500|FAF B fth
FNRI&LAZ 340,000 200,000 140,000| B DIEX . #&/\h'$, KEMF
=& 50,000 50,000 0
aigE 142,000 10,000 132,000|7RTILEBE ., KEFBRK
HERE 126,500 65,000 61,500(#1ENESME . EFEDEL
DRFIRESE 77,000 60,000 17,000| £ EXE. EEE. ZTHEE
=Ei=keo 77,000 60,000 17,000
OREXESE 570,000 573,000 -3,000[Fr AL EHE, EE S
=i5E 95,000 10,000 85,000
EAE 270,000 200,000 70,000
FNRI S AR & 10,000 30,000 -20,000
HIERE 45,000 33,000 12,000
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BiEE 0 0 0
ERE 150,000 300,000 -150,000
GH=EMEE 2,726,000 2,530,000 196,000\ @S . EFHFHH IOV
REZBE 6,000 6,000| R FFEDELERIRE
=i5E 440,000 200,000 240,000(EEENEL, SEHTHEL
EAE Ik 700,000 600,000 100,000 RFEES. EEFENEN
faiRE 20,000 70,000 -50,000| EFFoVUinES
RIS K E 530,000 400,000 130,000|EBE IR, mIRBE~TE
BIEERE 90,000 60,000 30,000| B FEEEENEF
ERE 300,000 200,000 100,000| EHHE Y (DDEPAZ)
HiERE 640,000 1,000,000 -360,000[# 728, TS S8
DEMEEEE 280,000 180,000 100,000
Tl EHES 30,000 30,000 0
FEE 250,000 150,000 100,000
@LEXEEE 2,090,000 390,000 1,700,000 |5 E % B LS
SEXRRE 600,000 350,000 250,000|gBiEET LD EEDENEHRS
BReEE 1,355,000 0 1,355,000 [xsmasnzn. seox nen
BIEEMRE 35,000 30,000 5,000/ A, K& H#RAFEHCH
HERE 40,000 10,000 30,000| R FFEDNELY
&8 8 60,000 60,000|1EHTI|EEIR. —E %
O£ BEmEE 41,000 10,000 31,000
HIEME 41,000 10,000 31,000 E A2 D HESEEEE
OEXREHEEH (EHEE~HE) 4,015,800 4,077,000 -61,200
EHBEFEH 1,944,000 1,944,000 0
EIELEE 63,000 63,000 0
WREXEBE 270,000 423,000 -153,000
BIEERE 135,000 90,000 45,000
BAmEENE 198,000 198,000 0
HHERE 180,000 180,000 0
HELE 180,000 180,000 0
RIS AR E 108,000 225,000 -117,000
EigE 45,000 45,000 0
EREERE 549,000 549,000 0
AT ER 72,000 90,000 -18,000
XIFEH 180,000 45,000 135,000
RIEF 73,800
wE 18,000 45,000 -27,000
EEE(C) D+ 1,076,200 945,800 130,400
EHREEH 216,000 216,000 0
BIELEE 7,000 7,000 0
WREXEBE 30,000 47,000 -17,000
BIEERE 15,000 10,000 5,000
R EENE 22,000 22,000 0
HHERE 20,000 20,000 0
HELE a 20,000 20,000 0
RIS AR & 12,000 25,000 -13,000
BiEgE 5,000 5,000 0
EHRHERE 61,000 61,000 0
ik 8,000 10,000 -2,000
XILFHEH 20,000 5,000 15,000
RiEH 8,200 8,200
e 2,000 5,000 -3,000
=B 400,000 300,000 100,000
SNERE ) 30,000 30,000 0
HEE 200,000 162,800 37,200
BEE&A(D)=(B+0C) 12,581,500 10,142,800 2,438,700
LEARREIREEE (A—D) -209,200 -160,200 -49,000
2. FESNEFOER
(N EE N INEE 0 0 0
ElE & ETAE 0 0 0
B & EZE 0 0 0
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RENIREETD) 0 0 0
)BRENEHR 0 0 0
B & E5THiE 0 0 0
[EE & ERRANE 0 0 0
EENEREE) 0 0 0
LHIRRE 4 18R (F=D-E) 0 0 0
Fu5 | il 2 HA — AR IF LR B EE 1 R R -209,200 -160,200 -49,000
EATERBRBRUEER 0 0 0
2 A — IR IF DR BA BE 18 B BB (G=C+F) -209,200 -160,200 -49,000
— AR IEREAEEH B SR E(H) 21,767,613] 21,509,847 257,766
— AR IE LR BA EE EA R 72 = (I=G+H) 21,558,413 21,349,647 208,766
I 5% IEMKEAE R D ER 0
ShEEEE 0
SWMELERE 6,462,800 6,402,000 60,800 X BEL £ A
—RRIEREAEE~DIREEE 0
— R REAE~DIREZE 6,462,800 6,402,000 60,800 X B £A
235 7F IF Dk BA EE 1R R AR () 0 0 0
IEEEREAESEESK) 0 0 0
IEEIEKRMERARES (L=J+K) 0 0 0
I IEBREAEEAR IS (M=I+L) 21,558,413 21,349,647 208,766
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